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Multiplicera med tio befogenheter (antal saknas)
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namn: Datum: Poéng:
2,225 x = 2225 4, 879 x =48.79
1,177 % =117.7 7,509 x = 7509
6, 92 x =69.2 1,707 x = 1707
6, 249 x = 6249 1,784 x = 1784
8,529 x = 852.9 3,201 x = 3201
6,031 x = 6031 6, 334 x = 63.34
2,749 x =27.49 9,736 x = 9736
3,438 x = 3438 5,731 x =573.1
2,104 x = 2104 3,652 x =365.2
3,042 x =304.2 3, 806 x = 38.06
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Multiplicera med tio befogenheter (antal saknas)

namn: Datum: Poéng:

2,225 x 1000 = 2225

1,177 x 100 = 117.7

6,92 x 10 = 69.2

6, 249 x 1000 = 6249

8,529 x 100 = 852.9

6,031 x 1000 = 6031

2,749 x 10 = 27.49

3,438 x 1000 = 3438

2,104 x 1000 = 2104

3,042 x 100 = 304.2

4,879 x 10 =48.79

7,509 x 1000 = 7509

1,707 x 1000 = 1707

1,784 x 1000 = 1784

3,201 x 1000 = 3201

6,334 x 10 = 63.34

9,736 x 1000 = 9736

5,731 x 100 = 573.1

3,652 x 100 = 365.2

3,806 x 10 = 38.06
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